Cherry eye - Std. Bulldog cases (1164) vs controls (932)
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A=1.014844

Cherry eye - French Bulldog cases (595) vs controls (660)
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Cherry eye - Great Dane cases (231) vs controls (464)
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Cherry eye - Cocker Spaniel cases (225) vs controls (450)
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Cherry eye - Boston Terrier cases (230) vs controls (246)
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Cherry eye - Chihuahua cases (187) vs controls (232)

A=1.003531

w -

Observed —logyo(p)

o

|

L

bitifliiti

10 12 18 21

Chromosome

e "%,

i

24 28 32 37 41

L)
o o©

T
2 3

Expected — Iogm(p)




14

12

10

- |0910(P)
%)

Cherry eye - Shih Tzu cases (170) vs controls (373)
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Cherry eye - Rottweiler cases (111) vs controls (136)
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Cherry eye - Puggle cases (114) vs. controls (177)
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